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���������� ���,�������� * * * * * * * * * * * * * * * * * * * * * * * * * G;

D*G �=+��=����?9� �� �U��8� �� ����������� * * * * * * * * * * * * * * * * G;

D*` 
�=���S���0 * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * G:

� �����
���� ' 



������� O���

_*C ��+���8��0 �� 0�=5��?9� * * * * * * * * * * * * * * * * * * * * * * * * * G^

_*C*C �,����?9� �= 5=� ��+���8�� 0�=+��0 * * * * * * * * * * * * * * * GD

_*C*: �,����?9� �= 5=� ��+���8�� ��=+��O� * * * * * * * * * * * * * GD

_*: 	����� �� ��S.�8� �� 0�=5��?9� * * * * * * * * * * * * * * * * * * * * * GG

_*:*C 	����� �� .���� �� ��S.�8� 0�=+��0 * * * * * * * * * * * * * * * GG

_*:*: 	����� �� .���� �� ��S.�8� ��=+��O� * * * * * * * * * * * * * * GF

_*^ 	�����0 �,������0 * * * * * * * * * * * * * * * * * * * * * * * * * * * * * GF

_*D ��05����� �� ���=� �?9� * * * * * * * * * * * * * * * * * * * * * * * * * `;

_*D*C �5�?J�0 �� +�����T���� �+U0 ���=� �?9� * * * * * * * * * * * * * `;

_*D*: ������� �M���� �+U0 ���=� �?9� * * * * * * * * * * * * * * * * * `^

_*_ ��05����� �� ��+���8�� 0�=+��0 * * * * * * * * * * * * * * * * * * * * * `D

_*_*C ������� L=%�%L= �� ���00� 
� * * * * * * * * * * * * * * * * * `_

_*_*: ��0����� �� ���00� 
� * * * * * * * * * * * * * * * * * * * * * * `F

_*E ��S��0� �� ��05����� ��= ,����?9� �� +��W=����0 * * * * * * * * * * * F^

_*E*C �,����?9� �� �����,��� �� �+���?9� �� ����������� * * * * * * * F^

_*E*: �,����?9� �� ��=��6� �� +����� �� * * * * * * * * * * * * * * * F_

_*G ��05����� �� ��+���8�� ��=+��O� * * * * * * * * * * * * * * * * * * * * FG

_*G*C ������� L=%�%L= �� ���00� 
� * * * * * * * * * * * * * * * * * FG

_*G*: ��0����� �� ���00� 
� * * * * * * * * * * * * * * * * * * * * * * C;:

_*` 
�=���S���0 * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * C;:
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�*C �����O� �� ���85�8�= ������ * * * * * * * * * * * * * * * * * * * * * * CCE

�*C*C 
0��5�5�� �� 5= +��8��=� ������ * * * * * * * * * * * * * * * CCE

�*C*: ���I����0 MS0���0 * * * * * * * * * * * * * * * * * * * * * * * * * * CC`

���I���� �� �5���� �?9� * * * * * * * * * * * * * * * * * * * * * * CCF

���I���� �� �M��8�?9� * * * * * * * * * * * * * * * * * * * * * * * C:;

���I���� �� +���M�?9� * * * * * * * * * * * * * * * * * * * * * * * C:;

���I���� �� ����8�?9� * * * * * * * * * * * * * * * * * * * * * * * C:C


�=+�0�?9� �� +��I����0 * * * * * * * * * * * * * * * * * * * * * C::

�*: 
O�=+�� �� +��8��=� ������ * * * * * * * * * * * * * * * * * * * * * * C:^

, 2�������� �� ����� �� ���

!*C #������ �� ��+���8��0 #�%��	 * * * * * * * * * * * * * * * * * * * * * C:E

� ��������
� %��� �������������
� �� 
��
������� )�334 56�27 ��8


*C ��45����5�� �� 0�0��=� &�� * * * * * * * * * * * * * * * * * * * * * * * C:`


*: �0���� � 0�0��=� &�� * * * * * * * * * * * * * * * * * * * * * * * * * * C:F


*^ 
O�=+�� �� 5���� �?9� �� 0�0��=� &�� * * * * * * * * * * * * * * * * * * C^;

9 ������
��� ���:
�
�� � "

�*C ��L��?J�0 * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * C^F

�*: �5������=���� ��0 ��8����=�0 8��2����0 * * * * * * * * * * * * * * * * CD;

�*^ ��+��0����?9� � ����L��?9� * * * * * * * * * * * * * * * * * * * * * * * CDC

�*D �,����?9� �� +�+5��?9� * * * * * * * * * * * * * * * * * * * * * * * * * * CD:
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�*_ �+���?J�0 8��2����0 * * * * * * * * * * * * * * * * * * * * * * * * * * * * CD:

�*_*C ����?9� * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * CD^

�*_*: 
�5 �=���� * * * * * * * * * * * * * * * * * * * * * * * * * * * * CDD

�*_*^ 	5��?9� * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * CD_

�*E �����8��0 � ��0,����8��0 ��0 ��8����=�0 8��2����0 * * * * * * * * * * CDE
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:*C ��45����5�� ��>���,* * * * * * * * * * * * * * * * * * * * * * * * * * * * G

:*: ��45����5�� �� 0�0��=� �� 8�������=���� M�0���� �= +��I����0* * * * * CC

:*^ ���8��=� �� 5= ����������� .5  /* * * * * * * * * * * * * * * * * * * * CD

^*C ��45����5�� �� 5= �U ��>���, �� �a����* * * * * * * * * * * * * * * * * :;

^*: ��45����5�� �� 5= �U ��>���, �� M����* * * * * * * * * * * * * * * * * :;

^*^ ��45����5�� �� 0�0��=� +��+�0��* * * * * * * * * * * * * * * * * * * * * :C

^*D ��5O�8��=� �� =�������8�� +��+�0��* * * * * * * * * * * * * * * * * * * :^

^*_ �5�?9� �� +�����T���� �00������ � 5= ��=���� 
���
����
 * * * * * ^;

^*E �5�?9� �� +�����T���� �00������ � 5= ��=���� ����
 * * * * * * * * ^C

D*C �5�?J�0 �� +�����T���� �� ����������� �� �0��������� * * * * * * * * * _E

D*: �5�?J�0 �� +�����T���� �� ����������� �� �0��������� * * * * * * * * * _G

D*^ �5�?J�0 �� +�����T���� �� ����������� �� ������������� * * * * * * * * _`

D*D �5�?J�0 �� +�����T���� �� ����������� �� ������������� * * * * * * * * _F

D*_ ���8��=� �� ���00�0 �� ����������� ���,�������� * * * * * * * * * * * * GC

D*E ���8��=� �� ���00�0 �� ����������� .5  / * * * * * * * * * * * * * * * * GC

_*C ��+���8�� �� 0�=5��?9� 0�=+��0* * * * * * * * * * * * * * * * * * * * * * GD

O,�



���	
 �� 
����
� O,��

_*: ��+���8�� 8��2���� �� 0�=5��?9� ��=+��O�* * * * * * * * * * * * * * * * G_

_*^ ���8��=� ��0 ��+���8��0 �����U���0 ����0 * * * * * * * * * * * * * * * * GE

_*D �5�������� �� .����0 �� ��S.�8� 
� �5����� � 0�=5��?9� * * * * * * * G`

_*_ �5�?9� �� +�����T���� �� ������� ������� �� ���00� 
� * * * * * * * * `C

_*E �5�?9� �� +�����T���� �� ������� ��0����� �� ���00� !
 * * * * * * * * `:

_*G ������� L=%�%L= �� 5= V5O� 
� ��= ����������� .5  / ���8���� �

���=� ��� * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * `D

_*` ������� L=%�%L= �� ���00� 
� 0�= ����������� * * * * * * * * * * * * `E

_*F ������� L=%�%L= �� ���00� 
� ��= ����������� ���,�������� * * * * * `G

_*C; ������� L=%�%L= �� ���00� 
� ��= ����������� �5  / * * * * * * * * ``

_*CC ��0����� �� ���00� 
� 0�= ����������� * * * * * * * * * * * * * * * * * F;

_*C: ��0����� �� ���00� 
� ��= ����������� ���,�������� * * * * * * * * * * FC

_*C^ ��0����� �� ���00� 
� ��= ����������� �5  / * * * * * * * * * * * * * F:

_*CD �,����?9� �� �����,��� �� ��5�?9� �� ����������� * * * * * * * * * * * * FD

_*C_ �,����?9� �� ��V5T���� �� ��=��6� ��0 +�����0 * * * * * * * * * * * * FE

_*CE ������� L=%�%L= �� 5= V5O� �� ���00� 
�1 0�= �����������1 ��

��+���8�� C * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * F`

_*CG ������� L=%�%L= �� 5= V5O� �� ���00� 
�1 ��= ����������� ���,��%

������1 �� ��+���8�� C * * * * * * * * * * * * * * * * * * * * * * * * * * * FF

_*C` ������� L=%�%L= �� 5= V5O� �� ���00� 
�1 ��= ����������� �5  /1

�� ��+���8�� C * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * C;;

!*C � �0��5�5�� ��0 �U0 �� ��* * * * * * * * * * * * * * * * * * * * * * * * * C:E


*C ��45����5�� �� 0�0��=� &��* * * * * * * * * * * * * * * * * * * * * * * * C:F
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�*C ���8��=� �� 5=� �+���?9� �� 0���?9� ����,20 �� =2���� �� ������* * CD^

�*: ���8��=� �� 5=� �+���?9� �� ��5 �=����* * * * * * * * * * * * * * * * CD_

�*^ ���8��=� �� 5=� �+���?9� �� =5��?9�* * * * * * * * * * * * * * * * * CD_
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^*C 	�+��=���� �� �0+���L��?9� +����� �= ����M5��0 �� ����������� .5  / :F

^*: 	�����0=�0 �� ��8����=�0 8��2����0 �0���6���0 * * * * * * * * * * * * * ^F

^*^ ���W=����0 �� ��8����=� 8��2���� 5���� ���0 �� ���=� �?9� * * * * * * D;

_*C 	2�����0 50���0 ��0 ��+���8��0 ��=+��O�0 * * * * * * * * * * * * * * * G_

_*: ������� � ,����?9� �� ������� �� ���00� 
� �� ��+���8�� 0�=+��0 �=0� `F

_*^ ��0����� �� ��+���8�� 0�=+��0 * * * * * * * * * * * * * * * * * * * * * * F^

_*D ������� � ,����?9� �� ������� �� ���00� 
� �� ��+���8�� C �=0� * * * C;C

_*_ ������� � ,����?9� �� ������� �� ���00� 
� �� ��+���8�� : �=0� * * * C;C

_*E ������� � ,����?9� �� ������� �� ���00� 
� �� ��+���8�� ^ �=0� * * * C;C

_*G ��0����� �� ��+���8�� C �������0 ��0�������0H����0=�����0� * * * * * * C;:

_*` ��0����� �� ��+���8�� : �������0 ��0�������0H����0=�����0� * * * * * * C;:

_*F ��0����� �� ��+���8�� ^ �������0 ��0�������0H����0=�����0� * * * * * * C;:

�*C ������0 �� �+���J�0 +��� 0���?9� ����,20 �� =2���� �� ������* * * * * CDD

O�O
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^*C ��8����=� X��8%	����� * * * * * * * * * * * * * * * * * * * * * * * * * ^G

D*: !�0� �� ��8��0 �� ����������� �� �0��������� * * * * * * * * * * * * * * EC

D*^ !�0� �� ��8��0 �� ����������� �� ������������� * * * * * * * * * * * * E:

D*D ��8����=� �� ����������� ���,�������� * * * * * * * * * * * * * * * * * G;

�*_ ��8����=� 8��2���� 0�=+��0 * * * * * * * * * * * * * * * * * * * * * * * * CDC

OO
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^*C 
O�=+�� �� �0+���L��?9� ������ �� �0��������� * * * * * * * * * * * * :G

^*: 	�+��=���� �� ��=���� 
���
����
 * * * * * * * * * * * * * * * * * * :F

^*^ 	�+��=���� �� ��=���� ����
 * * * * * * * * * * * * * * * * * * * * * ^;

^*D 	�+��=���� �� ��=���� �	��� * * * * * * * * * * * * * * * * * * * * * ^C

^*_ 
U��8� &�� =�+���� � +����� ��= ��=���� �	��� * * * * * * * * * * * ^:

^*E 
O�=+�� �� �U��8� &�� �� ����������� �� �0��������� * * * * * * * * ^D

^*G 
O�=+�� �� �U��8� &�� �+U0 ,���L��?9� ��= X��8%	����� * * * * * * ^G

^*` 
O�=+�� �� �U��8� &�� �+U0 ���=� �?9� ��= �# * * * * * * * * * * * D^

D*C 
0+���L��?9� �� +��I���� �� �0��������� * * * * * * * * * * * * * * * * D`

D*: 
0+���L��?9� �� +��I���� �� ������������� * * * * * * * * * * * * * * * _C

D*^ 
U��8� �� ����������� �� �0��������� ������� * * * * * * * * * * * * * * E:

D*D ��45�,� ��= M�0� �� ����0 +��� ���=� �?9� �� ����������� �� �0��%

������� * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * ED

D*_ 
U��8� �� ����������� ��= ��8��0 ,���L����0 +�� X��8%	����� * * * E_

D*E 
U��8� �� ����������� �� �0��������� ���=� ��� ��= �# * * * * * * * EG

�*C 
O�=+�� �� �0��5�5�� �� 5=� �0+���L��?9� ������ * * * * * * * * * * CCG

�*: 
O�=+�� �� 5=� �0+���L��?9� �� +��I���� MS0��� �� ���85�8�= ������ CC`

OO�
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�*^ 
O�=+�� �� 5=� �0+���L��?9� �� +��I���� �� �5���� �?9� �= ������ * CCF

�*D 
O�=+�� �� 5=� �0+���L��?9� �� +��I���� �� �M��8�?9� �= ������ * * C:;

�*_ 
O�=+�� �� 5=� �0+���L��?9� �� +��I���� �� +���M�?9� �= ������ * * C:C

�*E 
O�=+�� �� 5=� �0+���L��?9� �� +��I���� �� ����8�?9� �= ������ * * C::

�*G 
O�=+�� �� 5=� ��=+�0�?9� �� +��I����0 �= ������ * * * * * * * * * C::

�*` 
U��8� �O�=+�� �� 5=� ��0���?9� �� +��I���� �� ���85�8�= ������ * C:^

!*C 
U��8� +��� ����?9� �� ��+���8��0 �����U���0 �� #�%��	 * * * * * * * C:G


*C 
U��8� �� ����������� �� ������������� ������� * * * * * * * * * * * * * C^;


*: ��45�,� ��= M�0� �� ����0 +��� ���=� �?9� * * * * * * * * * * * * * * C^C


*^ 
U��8� �� ����������� ��= ��8��0 ������0 +��� ��8����=� �� X��8%

	����� * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * C^^


*D 
U��8� �� ����������� ��= +��W=����0 ���=� ���0 +��� ��8����=� 8�%

�2���� * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * C^E
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���� ��5�� �� �������� �9� �.����� �0 8�������0 �� 45������� ��

0��,�?� ����� �O�8���0 +���0 �+����?J�0 =5���=I���* � ��.�������?9� �� ���%

,�?�0 ���>���,� @CA 2 5=� ��0 +��+�0��0 �� 0��5?9� ��00� +��M��=�1 ���0�0����� �=

+��,�� 0��,�?�0 ��.���������0 +��� �0 �8��8�?J�0 �� V5O�0 �� ����0* �5���0 �������%

��,�0 09� � ����8��?9� �� ���,�?�0 �������,�1 45� �00�85�� ��� +��� ���� ����O9�1

� � 
�8��6���� �� ��S.�8� ����L� 
�8�������8�1 ���� �0 ��M���0 �� �����=���� ��0

�45�+�=����0 �� ����1 45� ����5�= =2�����0 ���������0 �� ���1 �����=���= � =�%

�6�� ��=��6� 45� 5= �����=����� +����� ��,� 0�85�� +��� � �M���?9� ��0 8�������0

0���������0*

� ��45����5�� ��>0��,1 �9� �M0����� 05�0 ��������I0����01 +��� �+��0����� +��%
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���1 �� L85�� D*E* 
00�0 ���00�0 ����� �=

� 8�������=���� �� ��=I��� � �O��5��=1 +�� �O�=+��1 � �N50�� �� �0��������� � �

���5?9� �� ��S.�8� ��0 �U0 �� M����1 45���� 6S �������0 8�����0 �� �a����*

ConvCtrl
+EFSourceQuant: int
+EFDelayMax: int
+BEDelayMax: int
+EFDropMax: int
+BEDropMax: int
+BEWeightMin: int
+WRRBase: int
+init(link_ID:int)
+eval()

ConvNode
+link_ID: int
#init()
#eval()

��85�� D*_- ���8��=� �� ���00�0 �� ����������� ���,��������

FuzzyCtrl
+EFSourceQuant: int
+EFDelayMax: int
+BEDelayMax: int
+EFDropMax: int
+BEDropMax: int
+BEWeightMin: int
+WRRBase: int
+init(link_ID:int)
+eval()

FuzzyNode
+link_ID: int
#init()
#eval()

FuzzyLib

#EvalScheduler(schedweight_:float,delayEF_:float,dropBE_:float): float
#EvalConditioner(TBrate_:float,TBsize_:float,coreEFdelay_:float,EFdrop_:float): float
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� �������� �� �U 2 ����� ��� +���0 ���00�0 
��,���� � �5  /����1 45� �T�= �0

,���S,��0 �� �U1 +����00�= �00�0 ��.��=�?J�0 � ����� �= � ������?9� ��0 +��W=����0

�� ���L85��?9�* �� ��0� �� ���00� �5  /����1 6S 5=� ���00� �5  /��M ��= ����0 �0

M�M�������0 45� �=+��=����= � ����������� .5  /* ����0 �0 ���00�0 .���= �0�����0 �=

����1 ��45���� � ���00� �5  /��M .�� �0����� �= 
jj1 +��� =��6���� � ��0�=+��6�

� +�00�M������ 5= ��=+� �� 0�=5��?9� =����*

��. ������/����

�+��0����=�01 ��00� ��+I�5��1 � ��0���?9� �� +����00� �� ��0��,��,�=���� ��

+���U��+� 5���� ��� +��� ,������ � =�������8�� +��+�0��* 	�0���=�0 ��=M2= �

�=M����� �� 0�=5��?9� 5���� ��� � � .����=���� +��� ��0��,��,�=���� �� ��������%

��� .5  /* 
= 0�85���1 �����6�=�0 � =�+��=���� ��0 +��I����0 �= +��W=����0 ��

����������� .5  /1 05�0 .5�?J�0 �� +�����T���� � M�0� �� ��8��01 � �+��0����=�0 �

����������� ���,��������1 5���� ��� +��� ��=+���?9� ��= � ����������� .5  /* ��%

���=����1 �+��0����=�0 � �=+��=����?9� �� �U��8� �� 0�=5����� �� ����0*

�+U0 � ���0��5?9� �� ����������� ����� �=�0 � 0�=5��?9� ��0 ��,��0�0 ���S���0

�+��0������0 � 0�85��* �9� �0 ��05�����0 �M����0 ��= � ��.����� =����� �� 0�=5��?9�

45� �+��0������=�0 �� +�UO�=� ��+I�5��*
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���	��1 ��00� ��+I�5��1 �0 ��05�����0 ��0 =�����0 �� �,����?9� ��

��0�=+��6�1 45��0 0�N�=1 � ������� L=%�%L= � � ��0����� �� 5= V5O� +�����%

����� P ���00� 
�* ���� ���� =�����1 �+��0����=�0 �0 8�SL��0 � ��M���0 ������,�0 ��

��S.�8� 
!� � ��%�> �O+��������* �0 ��M���0 =�0���= =2��� � +�������� �� �����%

�� � ��O� �� ��0����� �= ���� 0��5�?9�* 	�0���=�0 �0 ��05�����0 �= 5= ��=I���

��>���, 0�= �����������1 ��= ����������� ���,�������� � ��= � ����������� .5  /*

�������=����1 �+��0����=�0 �0 ��+���8��0 �� 0�=5��?9�1 �� 0�?9� _*C1 � �0 =�����0

�� ��S.�8� 5���� ���01 �� 0�?9� _*:* � 0�85��1 �� 0�?9� _*^1 =�0���=�0 �0 =�����0 45�

.���= �,������0 +��� ,���L��� � .5������=���� �� ����������� +��+�0��* �+��0��%
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